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1. Introduction

Performance requirements for Fixed Reference Channel with single antenna transmission were finalized at the last meeting.  This paper investigates the influence of HS-SCCH error onto FRC throughput and suggests required power for HS-SCCH.

2. FRC with HS-SCCH Error

In TR25.890, it is proposed that power setting (Ec/Ior) for HS-SCCH and DPCH must be set to fulfil the following criteria:

· DCH mapped on DPCH to meet BLER of 1%

· Less than 1% throughout loss due to HS-SCCH error

To suggest the power setting for each channel (or to determine criteria can be met), the paper focuses the evaluation on Pedestrian-A (3km/h) with the geometry factor of 0dB where HS-SCCH and DPCH performance is most demanding.  

HS-SCCH/HS-DSCH

Fig. 1 shows the influence of throughput degradation due to HS-SCCH error.  The throughput degradation is shown in relative term where the reference is set to the case where no error is present in HS-SCCH.  The figure also shows the corresponding HS-SCCH FER as a reference, where HS-SCCH error is defined as error detected in either part-1 or part-2 of the HS-SCCH.  Note that simulation does not include the effect of misdetection of HS-SCCH from an assigned HS-SCCH set. To keep 1% degradation due to HS-SCCH error, HS-SCCH Ec/Ior greater than –13dB would be needed.  
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Fig. 1 HS-DSCH Throughput degradation due to HS-SCCH error [Pedestrian-A 3km/h, G=0dB]

DPCH

Fig. 2 shows the DPCH performance of 12.2kbps reference channel.  To obtain 1% BLER would require DPCH Ec/Ior greater than –7dB.
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Fig. 2 BLER for DPCH 12.2kbps reference [Pedestrian-A 3km/h, G=0dB]

3. Conclusions

The paper showed power needed to for HS-DSCH and DPCH (Ec/Ior) would exceed -13dB and –7dB respectively in order to meet guidelines provided in the TR.  Given the all the common channel required, 93% of total Node-B emulator power would be used up to leave only 7% power to the OCNS. Considering implementation margin, providing sufficient power needed to meet requirements provided in TR may not be achievable under the condition of pedestrian-A 3km/h with G=0dB.  
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